Events / bin

Events / bin

—
o
N

10!

10°

103

102

10!

10°

10<pr. iy € 20

1 PF ]
:_l i | | | | | | | I_:
0 2 4

jet pT, reco/ pT, truth
| ]

1 PF

= e
0 2 4

j et PT, reco/ PT, truth

Events / bin

Events / bin

103

102

10!

10°

103

102

10!

10°

|20|< PT. truth < |40
l 1 PF

j et PT, reco/ PT, truth

80<PpT,truth £ 100
e

1 PF—

4
j et PT, reco/ PT, truth

Events / bin

Events / bin

103

102

10!

10°

108

102

10!

10°

|40|< plT, truth < |60|

[

4
j et PT, reco/ PT, truth

100<PT. trutn < 200
— BT tuth 2 220

1 PF

1.

4
j et PT, reco/ PT, truth



